Math 53, Discussion 107

s 15 3 [integral over arhitrary domain

¢ 15.4 (double integral in polar coordinates)
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15.3 problems:
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1. Set up an integral to evaluate the volume et i Foan
of a cylinder of radius r and height h |I /'="‘:;L i i/ \
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3. Find the volume enclosed by the parabolic .-~ Vb wndee § D w " Taal 2
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15.4: polar integration . A i
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1. Compute [[ xydA with D the disk with or | P /e

center at the origin and radius 3
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9C0mpute the area of one loop of the rose
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2. Compute the area of a sphere of radius a

37 Fun: learn the trick how to compute
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